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1. LIS

ERALEL A ERORIERAERER
LI TFOERLEENDTY.

SR16000/M1 1./—kK 980.48GFLOPs
BG/Q 1/—F 204.8GFLOPs
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2 Parallel Program Generator

/—RAThHsingleRIT7O55
B/ -FRATO77YMPIET7A95 4

B&#8(cOpenmpiERiTZIEA
t%‘y_}l'o
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YONERITRTOIS 4L (expq.f)

sum1=0.0q0

doil=1,n

xx=x30(i1)*cnt0

by=1.0q0-xx

cnt2=by-ay

sum2=0.0q0

doi2=1,n

yy=x30(i2)*cnt2

bz=1.0q0-xx-yy

cnt4=bz-az

sum3=0.0q0

doi3=1,n

zz=x30(i3)*cnt4

d = -xx*yy*s-tt*zz*(1.090-xx-yy-zz)+(xx+yy)*ramda**2+

1 (1.090-xx-yy-zz)*(1.0q0-xx-yy)*fme**2+zz*(1.0q0-xx-

yy)*fmf**2

sum3=sum3+cnt0*cnt2*cnt4*gw30(i1)*gw30(i2)*gw30(i3)/d**2

end do

sum2=sum2+sum3*h

end do

suml=suml+sum2*h

end do

result=sum1*h




f90 expqg.f -0s -loglist —¢

t:l?A*’éi?:lbi'd‘tlJ'Fd)ﬁf {FHH

HAAThFT
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Parallel processing starting at loop entry
Parallel function: _parallel func_2_ MAIN
Parallel loop

D: TLOCAL variable

ZZ: TLOCAL variable

SUM3: TLOCAL variable

CNT4: TLOCAL variable

YY: TLOCAL variable

SUM2: TLOCAL variable

CNT2: TLOCAL variable

XX: TLOCAL variable

SUM1.: reduction variable (SUM)

13: TLOCAL variable

12: TLOCAL variable
doil=1,n

RN—IICiR<

xx=x30(i1)*cnt0
by=1.0q0-xx
cnt2=by-ay
sum2=0.0gq0

doi2=1,n
yy=x30(i2)*cnt2
bz=1.0q0-xx-yy
cntd=bz-az
sum3=0.090




** Continued parallel processing

** Parallel processing finishing at loop exit

%k k
** 4 streams (GW30[]x2, X30[]x2) pre-fetch applied.
%k k
doi3=1,n
zz=x30(i3)*cnt4
d = -xx*yy*s-tt*zz*(1.090-xx-yy-zz)+(xx+yy)*ramda**2+
1 (1.090-xx-yy-zz)*(1.090-xx-yy)*fme**2+
2 zz*(1.090-xx-yy)*fmf**2
sum3=sum3+cnt0*cnt2*cnt4*gw30(i1)*gw30(i2)*gw30(i3)/d**2
end do
sum2=sum2+sum3*h
end do
suml=suml+sum2*h
end do

chedelc

/ppg expqf &IACU/REIRATREALVKiLS
ETR7075LH0,0mp_expa.f ICERRENET,



ALURiESIEITR709 7 A

(omp_expq.f)

sum1=0.0q0
CSOMP PARALLEL DO

CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&

SCHEDULE(STATIC)
PRIVATE(I1)
PRIVATE(XX)
PRIVATE(BY)
PRIVATE(CNT2)
PRIVATE(SUM2)
PRIVATE(I2)
PRIVATE(YY)
PRIVATE(BZ)
PRIVATE(CNTA4)
PRIVATE(SUM3)
PRIVATE(I3)
PRIVATE(ZZ)
PRIVATE(D)
REDUCTION(+:SUM1)

doil=1,n
xx=x30(i1)*cnt0
by=1.0q0-xx
cnt2=by-ay
sum2=0.0q0
doi2=1,n
yy=x30(i2)*cnt2
bz=1.090-xx-yy
cnt4=bz-az
sum3=0.0q0

RN

—I i<




RIN—IH5NRES

doi3=1,n
zz=x30(i3)*cnt4
d = -xx*yy*s-tt*zz*(1.090-xx-yy-zz)+(xx+yy)*ramda**2+
1 (1.090-xx-yy-zz)*(1.0g0-xx-yy)
2 *fme**2+zz*(1.090-xx-yy)*fmf**2
sum3=sum3+cntO0*cnt2*cnt4*gw30(il)*gw30(i2)*
1 gw30(i3)/d**2
end do
sum2=sum2+sum3*h
end do
suml=suml+sum2*h
end do
CSOMP END PARALLEL DO
result=sum1*h

MERETEERA a7 SR16000/M1 1/—KRTHETT

inf ra box

11-x1-x-y 1

J' j j — dzdydx

00 0 D

D=-sxy—tz1-x-y—2)+ X+ YA +(1-x-y-2)1-x-y)m*
+z(1-x-y)m,’

s =-500°,t = -150°,m_ = 0.0005,m, =150,4 =10"%

CHERHBAEONA Y, 45 51024




DU IIVEST

size= 1024

result= 0.35617368821332826E-006
elapse= 129.020167350769043 sec

64ALyFRIT(BENLS)

Size= 1024

result= 0.35617368821332826E-006
elapse= 2.39548254013061523  sec

64RLYRRITHERLI=T7 BT S L4)
Size= 1024

result= 0.35617368821332826E-006
elapse= 2.39162707328796387 sec

A SMERIRHHETUVET,

OPENMPIERITDIRA NS ELEL TERATES.

DAL YRS YR - TS FEHT
K17 I RE,




75 YhmpiRFT 775 LHS (expa.mpif) N TV)YRAEFIRT
70%%.L (omp_expg.mpi.f) DIERK

77YMPIERIT707 7L

call mpi_barrier(mpi_comm_world,ierr)

secl = mpi_wtime()

do il=1,n/npe

xx=x30(i1+id*n/npe)*cnt0

by=1.0q0-xx

cnt2=by-ay

doi2=1,n

yy=x30(i2)*cnt2

bz=1.0q0-xx-yy

cntd=bz-az

doi3=1,n

zz=x30(i3)*cnt4

d = -xx*yy*s-ttt*zz*(1.090-xx-yy-zz)+(xx+yy)*ramda**2+
1 (1.090-xx-yy-zz)*(1.0q0-xx-yy)*fme**2+zz*(1.0q0-xx-yy)
2 *fmf**2

w3(i3)=cnt0*cnt2*cnt4*gw30(i1+n*id/npe)
1*gw30(i2)*gw30(i3)/d**2

end do

./ppg expa.mpi.f OCUKRIBA




(EREh=ALYRIENRTI/O7 7 L

call mpi_barrier(mpi_comm_world,ierr)
secl = mpi_wtime()
CSOMP PARALLEL

CSOMP DO

CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&
CSOMP&

SCHEDULE(STATIC)
PRIVATE(W2)
PRIVATE(W3)
PRIVATE(1)
PRIVATE(I1)
PRIVATE(XX)
PRIVATE(BY)
PRIVATE(CNT2)
PRIVATE(12)
PRIVATE(YY)
PRIVATE(BZ)
PRIVATE(CNT4)
PRIVATE(I3)
PRIVATE(ZZ)
PRIVATE(D)
PRIVATE(SUM)

do il=1,n/npe
xx=x30(il+id*n/npe)*cnt0
by=1.0q0-xx
cnt2=by-ay
doi2=1,n
yy=x30(i2)*cnt2
bz=1.0q0-xx-yy

Biﬂbthj‘“%%b‘fé
BENBL,

{———




tREEAICERL-ME

s = —-500%,t = —150?,m_ = 0.0005,m, =150
A =107°° MEMTITIELE = 0.6829488193874027d - 06

(EFH T E %
BG./Q
hone 77YVHMPI
outer mHMWEITAL YRS
inner SEI2EEB TALYRIES

—ERMANEIES 3 =34096
EHREER16016GFLOPICHH S

(EHL—.:E—" J:U)




EITHR—EXR®E#) (BG/Q)
/_

F2  |mpisk smp%l INATV) VR |17
32 512 1|{none 60.892
32 1024 1|{none 32.606
32 2048 1|{none 22.795
32 32 16 |outer 62.828
32 32 32|outer 35.15
32 32 64 |outer 22.585
32 32 16|inner 62.714
32 32 32|inner 34.212
32 32 64|inner 22.462

128 128 16|inner 15.679
128 128 32|inner 8.572
128 128 64 |inner 5.628
128 128 16|outer 15.707
128 128 32|outer 8.788
128 128 64|outer 8.788
512 512 16|inner 3.92
512 512 32|inner 2.157
512 512 64|inner 1.415
512 512 16 |outer 7.854
512 512 32|outer 7.854
512 512 64 |outer 71.854

MPiZL x smp#X < 47 S50 (4 [E14096) 7% & 7= E oo Z=F I 7a 0,

—fi%lcinnerNL 7)Y RiSIHREEEL R
<LYET,



3.SR16000/M1 AT L
3.1 simd FAb

(1)

ERVBFRE

*poption parallel,tlocal(al,a2,b1,b2,c1,c2)
doj=1,n
do i=1,n,nn
do ii=i,i+nn-1
al(ii-i+1)=a(1,i,j)
a2(ii-i+1)=a(2,i,j)
b1(ii-i+1)=b(1,i,j)
b2(ii-i+1)=b(2,i,)
end do

*soption unroll(2)
doii=1,nn
c1(ii)=al(ii)*b1(ii)-a2(ii)*b2(ii)
c2(ii)=al(ii)*b2(ii)+a2(ii)*b1(ii)
end do
doii=1,nn
c(1,i+ii-1,j)=c1(ii)
c(2,i+ii-1,j)=c2(ii)
end do
end do
end do

simd{t



Q)EHH4EREMNHE

*poption parallel,tlocal(al,a2,b1,b2,c1,c2,t1,t2,t3,t4,15,16)
do j=1,n
do i=1,n,nn
do ii=i,i+nn-1
al(ii-i+1)=a(1,i,j)
a2(ii-i+1)=a(2,i,j)
b1(ii-i+1)=b(1,i,j)
b2(ii-i+1)=b(2,i,j)
end do

*soption unroll(2)
doii=1,nn
t1=al(ii)+b1(ii)
t2=t1-al(ii)
t3=(al(ii)-(t1-t2))+(b1(ii)-t2)
t4=t3+a2(ii)+b2(ii)
t5=t1+t4
t6=t5-t1
c1(ii)=t5
c2(ii)=(t1-(t5-t6))+(t4-t6)
end do
do ii=1,nn
c(1,i+ii-1,j)=c1(ii)
c(2,i+ii-1,j)=c2(ii)
end do
end do

end do

simd{t



B)EHB4EREREHE

*poption parallel,tlocal(al,a2,b1,b2,c1,c2,t1,t2,13,t4,t5,

pl,all,al2,p2,b11,b12)

do j=1,n

do i=1,n,nn

do ii=i,i+nn-1

al(ii-i+1)=a(1,i,j)

a2(ii-i+1)=a(2,i,j)

b1(ii-i+1)=b(1,i,))

b2(ii-i+1)=b(2,i,))

end do

*soption unroll(2)

doii=1,nn
t1=al1(ii)*b1(ii)
pl=r*al(ii)
all=al(ii)-pl
all=all+pl
al2=al(ii)-all
p2=r*b1(ii)
b11=b1(ii)-p2
bl11=b11+p2
b12=b1(ii)-b11

RN—ICiR<

t2=(((all*b11-t1)+all*b12)+al2*b11)+al2*b12

t3=t2+al(ii)*b2(ii)
t4=t3+a2(ii)*b1(ii)
t5=t1+t4

c1(ii)=t5
c2(ii)=t4-(t5-t1)
end do




RIN—=I D5 DS

do ii=1,nn
c(1,i+ii-1,j)=c1(ii)
c(2,i+ii-1,j)=c2(ii)
end do

end do

end do

simd{t




simd 1t

TRXRMER—EX

Nn=256 *soption unroll(2)%{s=E A
E1TEMEIE I T

—Os

(DEFRHEHMFERHE Cx16

n=65536

smpZ #1)<>F )L |SIMD1E
1 20.553 13.916
2 10.355 6.966
4 5.346 3.507
8 3.469 1.87
16 1.771 1.139
32 0.831 0.457
64 0.93 0.501

(2) EMEHAEREENE R*16

smp%X #Z 1)) )L [SIMD1E
1 6.686 3.955
2 3.349 1.981
4 1.681 0.997
8 0.859 0.516
16 0.43 0.257
32 0.215 0.129
64 0.271 0.136

() EMEHASHEERE R*16

smp#X #Z 1)< )L [SIMD1E
1 5.529 5219
2 2.793 2618
4 1.44 1.361
8 0.833 0.675
16 0.417 0.336
32 0.209 0.168
64 0.231 0.154

n=32768

n=32768

SINEDFIRHAPRSNET,



32 HERVEAREH

JL— T = 2% A E =8796GFLOP(/ — REUIT/EAF L 721

smp AVIFIV)—AR

*poption noparallel
*soption unroll(1)
do iter=1,loop
sum=dcmplx(0.0d0,0.0d0)
*poption parallel
doi=1,n
sum=sum-+a(i)*b(i)
end do
end do

smp simd{t/—RA

*poption noparallel
*soption unroll(1)
do j=1,loop
tr=0.0d0
ti=0.0d0
*poption parallel
doi=1,n
tr=tr+ar(i)*br(i)+ai(i)*bic(i)
ti=ti+ar(i)*bi(i)+ai(i)*br(i)
end do
sum=dcmplx(tr,ti)
end do




NATVYRIES] AV F V) —R

*poption noparallel

*soption unroll(1)
do j=1,loop

*poption parallel
do i=1,n/npe
ss(id)=ss(id)+a(i+id*n/npe)*b(i+id*n/npe)
end do
end do

7)Yk simd{t/—2R

*poption noparallel

*soption unroll(1)
do j=1,loop

*poption parallel
do i=1,n/npe
sl=sl+ar(i+id*n/npe)*br(i+id*n/npe)+ai(i+id*n/npe)*bic(i+id*n/npe)
s2=s2+ar(i+id*n/npe)*bi(i+id*n/npe)+1 ai(i+id*n/npe)*br(i+id*n/npe)
end do
end do




ERBNIRER EEAERER

L ()

/=8 |smpBi(/ =R 51 ()T |simdit

32 57665 65.031
04| 110909] 60591
32( 26934 27.099
04 13.721| 14592
32( 13461 13.563
04|  6.82] 1213

ool A~AlEEl—|—

1/—F
A1) F NV TIE, smt=off, simd{b Tl
smt=onHEZh.

s/ —r
smt=on HE . smt=off D2{ZE\ VIEEE,




3.3 WIOr RNEBEFFTEHR

IREBIRRTDANIMNVETORIRTEMRZNS
VWor RNVEBRSHREFFTHEROTAMO
V7 L& ERL TITo =R RERERRRTY

Wor RNWEEHRERER=ATTIIDOTIIRE
EREHITIRARTORELY BXE ARE,
MREELTVET . BREERHET—2—0fE
ZfERALTLET,

FFTEIRIZEK%,2,3,4,5— LB AE L
2,3,456,7,89,11,12,16&L7=HEICHTT
WET, BRERERETOMEE=2—DIE
2ERALTVWET, ABTREF1—=763FN
TWETOTHREDEINMEIZIKESTETr—R6
HIETY,




LR )L EHA GFLOPs—&

RBAT 1 node 4 node 8 node

FARE 128.214| 368.685| 1022.808

RNiER 419.536| 1649.487| 3332.407

VAN i= Bl 239.288| 857.066| 1910.665

AREDOEEHIRL,
FFT GFLOPs —%&
N 1node 4node 8node
O Y - i | i - . Y

3°6 426 803]  1762|  3028] 2912 4961
46 141 142 477 476 1090|1079
575 180 286 677  1058]  1385] 2182
64 364 653| 1189  2143|  2509| 4077
7°4 60 268 193 999 463 2023
8"4 143 142 472 4771 1114] 1106
9"3 387 784]  1866]  3034] 1775|5752
10°3 512 055|  2102|  3238| 3620 5774
12°3 232 494 882| 1757|1756 3527
1673 142 143 470 457 1102] 1105
11°3 134 134 513 506] 1043 979

N#'3,5,6,7,.9,10,120ONZEFKDIES. b HE®D

FRHAELN,




3.4 EENF

mASERRE. GRER7OVSLANES
ERALERNEIMERERIHEEE=54—0DfE%
f“‘*'m b*bf:o

RHEAVFHERR
A 22049 x 2049x1025
77E 8x8x8 flat
2X2%2 hybrid  8mpi x 64smp
4x4x4 hybrid ~ 64mpix 8smp

J—A __|mpi BRE |FRE |BRY |[MIRE

ofi 2% 207  350]  629] 940
ofi Il 250| 480  862] 968
ofi flat 269 500|895 977
tune  [2%2x2 560  315|  576] 942
tune |4%4%4 69|  444)  797] 932
tune _|flat 805|  473]  834] 983

{ERERIIC(E flat mpiIBRIMEELOTULET,



3.5 QCD

1 /=K. BENIESIRLT

SR16000/M1 EfTHR—EX (BfE )
data 16%16%16%32 |24%24%24%48 |32%32%32%64
time for Uinit 0.042 0.213 2.29
D W mult 2736 2576 3650
total 223.87 861.28 3779.2 . Yy
solver 223,65 860.24 37743 Single SEfT
cg-step 220.55 841.24 3733.8
mult 176.6 658.3 28817.5
data 16%16%16%32
smp3 1smp 16smp 32 smp 64 smp
total 22147 18.759 11.896 14914
solver 221.26 18.354 11.686 14.708
cg-step 218.17 18.013 11.421 14.402
mult 175.19 13.672 8.952 11.599
data 24%24%24%48
smp3 1smp 16smp 32 smp 64 smp
total 861.36 155.09 87.848 71.041
solver 859.67 153.87 86.804 75.973
cg-step 846.68 151.38 85.262 74.631
mult 657.86 119.36 72.218 60.304
data 32x32%32*64
smp# 1smp 16smp 32 smp 64 smp
total 37604 508.39 339.15 396.52
solver 3754.9 503.22 336.02 393.14
cg-step 371147 49745 332.08 388.36
mult 2867.7 388.25 266.41 299.02

B EIEFEA—/ S —AYRHINELY,

32smp

(smt off) DIBEHREEENRLY,




4. BG/Q YATLA

4.1 simd FAb

1 Node

REAERR

BG/Q

A X 8192

A X 16384

MERSE R A

BREAZARE  d=a+thxc

simd /Ny 7 744 X512

c=axh

A00[F] 1T

simd /Ny 7794 21024 10000 FE47

RIEH-ERW)

847 |Y=A  |16smp 32smp  |64smp

MERERE |AUDFIL| 45.358] 45283  45.107
simd{t 26.864| 26.717|  26.791

BEH YUV 62892] 63065  63.209
simdft 26712\ 26.745| 26617

16smp,32smp,64smp THEREELL.
Simd{EDOFIRITKEZL,




42 ERVARTEHE

BG/Q  freelllE#iR

=75 =2 T =8796GFLOP(/ — REIZHAE L7\

MIYSREE  EEE-E

J—RE |smpBl  |RATHHE
(7))
32 16 39.984
32 32 21.166
32 64 16.206
128 16 9.902
128 32 53
128 64 4087
512 16 2379
512 32 1.325
512 64 1.032
smtOZIR

smt=2/smt=1 1.8
smt=4/smt=1 2.3

SmtOFIRIZsimd/nosimdDFIRERUEREGIEE LH>TLET,



43 WoIor RNV EEEFFTEHE
BG/Q 32/—F LS R)LERETE

GFLOPs —&

2AT 64smp 32smp 16smp

FHARHY 615 713 520
HNiERY 566 358 192
NiER 1104 790 709

MEBOHERHIRER SMOMREKSEL,

FFT GFLOPs —%

N ERE ;i
6dsmp  [32smp  [16smp  |64smp  [32smp  [16smp

36 629 1264 1164 1271 1557 1119
4 588 969 h817 582 969 583
5’5 696 132 159 1101 1069 1077
64 595 622 1077 1097 999 181
14 154 168 205 975 925 918
84 998 579 600 590 572 094
9°3 635 1034 1146 1285 1476 1114
10°3 189 1008 1455 1548 1476 1241
1273 104 119 910 1276 1080 132
16°3 598 576 603 590 514 996
1173 181 228 316 182 232 3117

smtDFIRIE, smt=2ARIMEEL>TULET,
BT EIESS 79DTHEEDINREHNAEL,




4.4 BEFNF

AExth—&
small 44 A1025x513x513(32/ — )
hybrid  4x4x2
flat ~ 16x16x8
middle 1 A1025x1025x1025(128/ — F)
yorid  8x4x4
lat  32x16x16
large Y4 A2049x 2049x1025(512/ — R)
hybrid - 8x8x8
flat — 32x32x32

mEE BHEE. BEE 7n75LREH0(E
ERBAEEE SR16000/M1 @
HEEE=2—0NfE




IEEFAR Y F GFLOPs—& &

(HERRE) (EFRE)

H4X  |Y—R mpi GFLOPs |H#4X |[Y—R mpi GFLOPs
small ori hybrid 236 |small ori hybrid 135
ofi flat 271 ori flat 146
tune hybrid 247 tune hybrid 142
tune flat 314 tune flat 177
middle ofi hybrid 770|middle ori hybrid 451
ori flat 957 ori flat 497
tune hybrid 795 tune hybrid 479
tune flat 1007 tune flat 982
large ori hybrid 3767|large ori hybrid 2325
ori flat 4274 ori flat 1691
tune hybrid 4055 tune hybrid 2361
tune flat 4746 tune flat 2615
CEX) (4fEFEE)

HA4X |Y—R mpi GFLOPs |H#4X |[Y—R mpi GFLOPs
small ori hybrid 227 [small ori hybrid 589
ofi flat 193 ori flat 577
tune hybrid 252 tune hybrid 633
tune flat 293 tune flat 698
middle Oofi hybrid 781 |middle ori hybrid 2182
ori flat 711 ori flat 2232
tune hybrid 848 tune hybrid 2342
tune flat 1021 tune flat 2674
large ori hybrid 3686 |large ofi hybrid 9465
ori flat 3049 ori flat 9205
tune hybrid 4204 tune hybrid 10186
tune flat 4593 tune flat 11077

i S{EFIETIE. flat MPI EMPlEsmp®

NATV)YRIEFITIE KIS,




45 QCD
1/—KRET
smp*/—Al&parallel program generator T{ER

BG/Q QCD TR —& (BGL #)

data 16%16%16%32 |24%24%24%48 [32*%32%32%*64

time for Uinit 0.56 2.81 8.24

D W mult 2744 2574 3654

total 1295.1 6212.8 27510(Single E1T
solver 1293.9 6206.9 27492

cg-step 1275.9 6144.7 27204

mult 1078.6 5183.2 22963

data 16%16%16%*32

smpER 1smp 16 smp 32 smp 64smp

total 1381.1 101.33 87.2 123.13
solver 1379.9 100.38 86.25 122.14
cg—step 1359.8 98.88 84.91 120.24
mult 11774 80.53 66.73 96.65

data 24*24*24%48

smp%l 1smp 16 smp 32 smp 64smp

total 6532.6 508.5 491.87 512.21
solver 6526.8 503.84 487.21 507.53
cg-step 6427.3 496.11 479.78 499.84
mult 5605.6 382.66 366.59 381.77

data 32*32%*32%64

smp3l 1smp 16 smp 32 smp 64smp

total 28954 2347.4 2221.9 2247.6
solver 28936 2332.3 2207 2232.5
cg—step 28624 2307.6 2183.6 2208.9
mult 24922 1794.7 1673.4 1694.3
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